Name : Polynomial Power Expansion
Chapter : Polynomials and Factorisation

Grade : SSC Grade IX

EduSahara™ Assignment License : Non Commercial Use

3
1. The expanded form of(2r) is

(1) 2rX2rX2rx2rxX2r (ii) 2rX2rx2rx2r (iii) 2r (iv) 2rxX2rx2r (v) 2rXx2r
2 3,
2. The expanded form of(-3€) is
2 .2 2 2 2 2 2 2 2 2 .2 2 2 2 2
(i) —c (i) ~cx—cx—cx—-cx—c (i) ~cXx—cX—cxXx—c (iv) —cX—-CcX-C (v) —CX-C
3 3 3 3 3 3 3 3 3 3 3 3 3 3 3

3
3. The expanded form of (5k/) is

(i) 5k/ (ii) 5kIx5kIx5k/ (iii) 5kIX5kl (iv) 5kIX5kIX5kIX5kIX5kl (v) 5kIX5kIX5kIx5k/

3 3
4. The expanded form of(-Smn) is
3 3 3 .3 3 3 o3 3 3 3 3
(i) =mn (i) —=mnx—mn (iii) —mnX—-mnx—-mn (iv) —MNX—mMNX—mnX—mnX—mn
5 5 5 5 5 5 5 5 5 5 5
3 3 3 3
(V) =mnx—mnx—mnx-mn
5 5 5
3.
5. The expanded form of (4g—5) is

(i) (49-5)%(49-5)%x(4g—=5) (i) (49g-5)%(49-5)%(49-5)%X(49-5)%(4g—5) (iii) (49-5)

(iv) (49-5)%(4g-5) (v) (4g-5)%X(4g-5)%(4g-5)x(49-5)

4 13,
6. The expanded form of(gg+5) is
(i) (4 +1)><(4 +1)><(4 +1)><(4 +1)><(4 +1) (ii) (4 +1)><(4 +1) (iii) (4 +1)><(4 +1)><(4 +1)
DGt ) X g gry )X (g gH )X g g, )X Ug gy ) () g gy )X gy ) I Ag gy )X g+, ) %597,
(iv) (4 +1) (v) (4 +1)><(4 +l)><(4 +1)><(4 +1)
iv) (- - v - - : - - -
5g 2 Sg 2 5g 2 Sg 2 Sg 2

3
7. The expanded form of (3/) is

(i) 37 (i) 3/x3/x3/ (iii) 3/%x3/ (iv) 3/%X3/x3/X3/ (v) 3/X3/X3/X3/%X3/

1 3
8. The expanded form of(-zo) is

o1 o1 1 o1 1 1 ) 1 1 1 1 1 1 1
(i) =o (ii) —mox=0 (iii) =0X=0X=0 (iv) =0X=0X=0X=0X=0 (V) —=0OX=0X=0X=0
2 2 2 2 2 2 2 2 2 2 2



3
9. The expanded form of (/m) is

(i) Im (i) ImXImxXImXImxI/m (i) ImXImxXImxI/m (iv) ImxXIm (v) ImXImxIm

2 3.
—VWw) is
3

10. The expanded form of (
2 2 2 2 2 2 o2 2 2 2
(i) —vwXx—vwXx—-vw (ii) —vw (iii) —vwX—-vw (iv) —VWX—-VWX—-VWX—-VW
3 3 3 3 3 3 3 3 3 3
2 2 2 2 2
(V) —VWX—-VWX—-VWX—-VWX—VW
3 3 3 3 3
3.
11. The expanded form of (5tu—5¢t) is

(i) (5tu—=5t)x(5tu—5¢t) (ii) (5tu—5t)%X(5tu—5¢t)x(5tu—5t)
(iii) (5tu—=5¢t)X(5tu—5t)X(5tu—=5¢t)X(5tu—5¢t)%X(5tu—5t) (iv) (5tu—5¢t)

(v) (5tu—-5t)X(5tu—-5t)X(5tu—-5t)xX(5tu—5t)
3 2 3.
12. The expanded form of(4xy+-5y) is
(i) (3xy+2y)x(3xy+2y)x(3xy+2y) (ii) (3xy+2y)x(3xy+2y)x(3xy+2y)x(3xy+2y)
e ; ; ; iy . . ; ; ; ; .
4 5 4 5 4 5 4 5 4 5 4 5 4 5
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